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Aufgabe 1

Berechne.

a) 484− 70 b) 591− 80 c) 669− 40 d) 954− 40
e) 560− 30 f) 689− 80 g) 584− 10 h) 127− 10
i) 564− 50 j) 570− 50

Aufgabe 2

Berechne.

a) 790− 400 b) 664− 300 c) 568− 300 d) 277− 100
e) 488− 200 f) 758− 600 g) 516− 200 h) 416− 100
i) 314− 200 j) 359− 200

Aufgabe 3

Berechne.

a) 3800− 600 b) 4800− 400 c) 4800− 800 d) 2800− 700
e) 2900− 900 f) 5800− 700 g) 7800− 500 h) 2900− 200
i) 7900− 600 j) 4700− 600

Aufgabe 4

Berechne.

a) 78800− 700 b) 75800− 700 c) 61800− 700
d) 94600− 200 e) 37900− 500 f) 75700− 200
g) 23800− 800 h) 39600− 600 i) 48700− 600
j) 54800− 800

Viel Erfolg!
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